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bc = (yc-yb)/(xc-xb);
mbc_ra= Math.atan(mbc)* 180/Math.PI;

setProperty(“entyou_a', _x, p_l_x);
setProperty("entyou_a", _y, p_l_y);

Il DDOES
a 12 = (xe-xb)* (xc-xb) +(yc-yb)* (yc-yb);
a | = Math.sgrt(a_12);
a lin=Math.round(a_I);

setProperty("entyou_a',_rotation, mbc_ra);

Mathematica

/I sincos
cosa=(b_I*b I+c I*c l-a I*a )/(2*b_I*c_1);
sina= Math.sgrt(1-cosa* cosa);
cosb = (-b_I*b_I+c I*c I+a I*a I)/(2*a I*c_I);
sinb = Math.sgrt(1-cosb* cosh);
cosc = (b_I*b _I-c I*c |+a I*a )/(2*b_I*a l);
sinc = Math.sgrt(1-cosc* cosc);
I
X0 = (xa*sin2a+xb* s n2b+xc* sin2c)/(sin2a+sin2b+sin2c);
yo = (ya* sin2at+yb* sin2b+yc* sin2c)/(sin2a+sin2b+sin2c);
or=allsing
setProperty("p_0", _X, X0);
setProperty("p_o", _y, yo);
setProperty(“gaishinen”, _x, xo);
setProperty(“gaishinen”, _y, yo);
setProperty("gaishinen”, _width, o_r);
setProperty("gaishinen”, _height, o r);
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/AT
X0 = (xa*sin2a+xb* s n2b+xc* sin2c)/(sin2a+sin2b+sin2c);
yo = (ya* sin2at+yb* sin2b+yc* sin2c)/(sin2a+sin2b+sin2c);

A(X1, Y1), B(X2,Y,), C(X3,Ys)
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az(b2+c2 —a2)= a®(2bccosA)=2-a-abccosA = 2-2Rsin A-abccosA = 2Rabcsin 2A

B bz(c2 +a? —b2) = 2Rabcsin2B, 02(a2 +b? —02) = 2Rabcsin2C
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p= 2Rabc(sin2A+sin2B+sin2C)
_ asin2A+bsin2A+csin2A
~ §in2A+sn2B+sin2C
e — bCosA— B
AH =sAB+tAC ¢42%5 AP=——— c AB XY Q
ﬁ:m_ﬁ:(s bCOSAJAB +tAC
c
A P
ﬁ-ﬁ:{( bC‘ZSAJAB tAC} (s—bCOSAJ‘AB‘ +tAC-AB =0
2 2
(s—bCOSAjcz+(bccosA)t:O BROT czs+(bccosA)t:bccosA:bJFCT_a ~D
ARk @-ﬁ:(bchA)s+(t—ccfAjb2:
2 2 2
BDOT (bccosA)s+b2t:bccosA:bJFCT_a ~©®
, b2 +c?—a?
D@L Y ¢ becosA m: 2 L CE BOTHL L [T
bccosA b2 t b2 +c?—a?
2
bz(b2+c2—a2)—(b2+cz—a2)bccosA (b2+cz—a2)(2b2—2bccosA)
S= =
852 1652
(b2+02—a2){2b2—(b2+Cz—a2)} (b2+c2—a2)(a2+b2—c2)
- 1652 - 1652
b? +c? —a?)(c? +a? -b? L p2.p2 22 . .
t:( )(2 ) %) AP=b+c—2a{(a2+b2—c2)AB+(c2+aZ—b2)Ac}
16S 16S
c 1 {1682—(b2+02—a2)(a2+b2—cz)—(bz+cz—a2)(cz+a2—b2)}5

1652 +(b2+c2—.512)(az+b2 —c2)6+(b2 +c? —az)(cz+a2 —bZ)E




I TatRBICEB TS L

1652 —(b2 +c2 —az){(a2 +b? —cz)+(c2 +a? —bz)} :16( acs;nsz ~2a%? -2c%a? + 2a*

= 4a°c? (1— cos? B) —2a%h? - 2c%a® + 2a*

= 4a%c? — (2accosB)” - 2a%h? — 2c%a? + 2a*
=2a%c? - (a2 +c% - bz)2 —2a%h? +2a*
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(02 +a2—b2)(a2+b2 —cz): 2accosB-2bccosA = 4-a-abccosAcosB

=4.2Rsin A-abccosAcosB =8Rabcsin AcosAcosB
= 8Rabc tan AcosAcosB cosC

IRk (b2 +c2- az)(a2 +b? —02) = 8Rabc tan B cos AcosB cosC

(b2 +c2- az)(c2 +a’ —b2) = 8Rabc tan C cos Acos B cosC

8Rabc cos AcosB cosC (tan A+tanB +tanC)
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a-8Rabc tan AcosAcosB cosC + b -8Rabc tan B cos A cosB cosC + ¢ - 8Rabc tanC cos AcosB cosC
8Rabc cos AcosB cosC (tan A+tanB +tanC)

atanA+btanB +ctanC
tanA+tanB +tanC
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